Election Summary Report 2004 PRIMARY ELECTION, YAVAPAI COUNTY, AZ Summary For Mile High - 71-01/02, All Counters, All Races OFFICIAL FINAL RESULTS

Registered Voters 618 - Cards Cast 163 26.38%

Num. Report Precinct 1 - Num. Reporting 1 100.00%

US SENATOR (DEM)	DEM	- 1		
Number of Precincts		Total		
		1	100.0.0/	
Precincts Reporting		1	100.0 %	
Vote For Times Counted			7710/	
Times Counted		60/221	27.1 %	
Total Votes		49		
STARKY, STUART	DEM	49	100.00%	
Write-in Votes		0	0.00%	
 US SENATOR (REP)	REP			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		101/228	44.3 %	
Total Votes		87		
MCCAIN, JOHN	REP	86	98.85%	
Write-in Votes		1	1.15%	
US SENATOR (LBT)	LBT			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		2/10	20.0 %	
Total Votes		2		
HANCOCK, ERNEST	LBT	2	100.00%	
Write-in Votes		0	0.00%	
 US REP 1 (DEM)	DEM			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		60/221	27.1 %	
Total Votes		57		
			00.400/	
BABBITT. PAUL	DEM	47	82.46%	
BABBITT, PAUL DONAHUE, BOB	DEM DEM	47 10	82.46% 17.54%	

US REP 1 (REP)	REP			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		101/228	44.3 %	
Total Votes		89		
RENZI, RICK	REP	88	98.88%	
Write-in Votes	<u>NLI</u>	1	1.12%	
		-	1.12,0	
 US REP 1 (LBT)	LBT			
US KEF I (LDI)	LBI	Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1	,0	
Times Counted		2/10	20.0 %	
Total Votes		2		
CROCKETT, JOHN	LBT	2	100.00%	
Write-in Votes		0	0.00%	
STATE SENATOR 1 (DEM)	DEM			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For				
Times Counted		60/221	27.1 %	
Total Votes		50		
FRIEDMAN, SUSAN E.	DEM	50	100.00%	
Write-in Votes		0	0.00%	
 CTATE CENATOD 1 (DED)	חדם			
STATE SENATOR 1 (REP)	REP	Total		
Number of Precincts		101a1		
Precincts Reporting		1	100.0 %	
Vote For		1	100.0 /0	
Times Counted		101/228	44.3 %	
Total Votes		89		
BENNETT, KEN	REP	88	98.88%	
Write-in Votes		1	1.12%	
STATE SENATOR 1 (LBT)	LE	BT		
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		2/10	20.0 %	
Total Votes		1		
 Write-in Votes		1	100.00%	

STATE REP 1 (DEM)

		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		2	
Times Counted		60/221	27.1 %
Total Votes		77	
EDMONDS, WESLEY L.	DEM	40	51.95%
KIMES, JAMES	DEM	37	48.05%
Write-in Votes		0	0.00%

STATE REP 1 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		2	
Times Counted		101/228	44.3 %
Total Votes		138	
MASON, LUCY	REP	72	52.17%
O'HALLERAN, TOM	REP	66	47.83%
Write-in Votes		0	0.00%

STATE REP 1 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	2	
Times Counted	2/10	20.0 %
Total Votes	3	
BRINEY, ALLAN	LBT 2	66.67%
Write-in Votes	1	33.33%

CORP COMM 2007 (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	60/221	27.1 %	
Total Votes	1		
Write-in Votes	1	100.00%	

CORP COMM 2007 (REP)	REP	
	To	otal
Number of Precincts		1
Precincts Reporting		1 100.0 %
Vote For		1
Times Counted	101/2	228 44.3 %
Total Votes		88
MAYES, KRIS	REP	62 70.45%
SEEL, CARL	REP	26 29.55%
Write-in Votes		0 0.00%

LBT	
Total	
1	
1	100.0 %
1	
2/10	20.0 %
1	
1	100.00%
	Total 1 1 1

CORP COMM 2009 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	3	
Times Counted	60/221	27.1 %
Total Votes	126	
CLARK, SCOTT	DEM 43	34.13%
MANOIL, MARK	DEM 37	29.37%
TRASOFF, NINA	DEM 46	36.51%
Write-in Votes	0	0.00%

CORP COMM 2009 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		3	
Times Counted		101/228	44.3 %
Total Votes		185	
GLEASON, MIKE	REP	64	34.59%
HATCH-MILLER, JEFF	REP	59	31.89%
MUNDELL, BILL	REP	62	33.51%
Write-in Votes		0	0.00%

CORP COMM 2009 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	3		
Times Counted	2/10	20.0 %	
Total Votes	3		
Write-in Votes	3	100.00%	

JUDGE SUP COURT 4 (DEM)	DEM	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	60/221	27.1 %
Total Votes	0	
Write-in Votes	0	N/A

JUDGE SUP COURT 4 (REP)	REP	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	101/228	44.3 %
Total Votes	84	
HINSON, HOWARD, JR.	REP 84	100.00%
Write-in Votes	0	0.00%

JUDGE SUP COURT 4 (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	2/10	20.0 %	
Total Votes	1		
Write-in Votes	1	100.00%	

BOS DIST 1 (DEM)	DEM			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		60/221	27.1 %	
Total Votes		50		
CHADWICK, FRAN	DEM	50	100.00%	
Write-in Votes		0	0.00%	

BOS DIST 1 (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		101/228	44.3 %
Total Votes		99	
BUCHANAN, JIM	REP	38	38.38%
BURCHAM, WALTER	REP	12	12.12%
MACIS, JOE	REP	2	2.02%
SPRINGER, CAROL	REP	47	47.47%
Write-in Votes		0	0.00%

BOS DIST 1 (LBT)	LBT	
	Total	
Number of Precincts	1	
Precincts Reporting	1	100.0 %
Vote For	1	
Times Counted	2/10	20.0 %
Total Votes	1	
Write-in Votes	1	100.00%

COUNTY ASSESSOR (DEM)	DEM		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		60/221	27.1 %
Total Votes		49	
MCKERLIE, VIC	DEM	49	100.00%
Write-in Votes		0	0.00%

COUNTY ASSESSOR (REP)	REP		
		Total	
Number of Precincts		1	
Precincts Reporting		1	100.0 %
Vote For		1	
Times Counted		101/228	44.3 %
Total Votes		99	
HAMBRICK, VICTOR	REP	62	62.63%
MARTINEZ, A. J. "TON	REP	37	37.37%
Write-in Votes		0	0.00%

COUNTY ASSESSOR (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	2/10	20.0 %	
Total Votes	1		
Write-in Votes	1	100.00%	

COUNTY ATTORNEY (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	60/221	27.1 %	
Total Votes	1		
Write-in Votes	1	100.00%	

COUNTY ATTORNEY (REP)	REP			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		101/228	44.3 %	
Total Votes		84		
POLK, SHEILA	REP	84	100.00%	
Write-in Votes		0	0.00%	

COUNTY ATTORNEY (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	2/10	20.0 %	
Total Votes	1		
Write-in Votes	1	100.00%	

COUNTY RECORDER (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	60/221	27.1 %	
Total Votes	0		
Write-in Votes	0	N/A	

COUNTY RECORDER (REP)	REP		
	Tot	al	
Number of Precincts		1	
Precincts Reporting		1 100.0	%
Vote For		1	
Times Counted	101/22	28 44.3	%
Total Votes	8	37	
WAYMAN-TRUJILLO, ANA	REP 8	37 100.00	%
Write-in Votes		0 0.00	%

COUNTY RECORDER (LBT)	LBT		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	2/10	20.0 %	
Total Votes	1		
Write-in Votes	1	100.00%	

COUNTY SCH SUP (DEM)	DEM		
	Total		
Number of Precincts	1		
Precincts Reporting	1	100.0 %	
Vote For	1		
Times Counted	60/221	27.1 %	
Total Votes	0		
Write-in Votes	0	N/A	

COUNTY SCH SUP (REP)	REP
	Total
Number of Precincts	1
Precincts Reporting	1 100.0 %

Vote For		1		
Times Counted		101/228	44.3 %	
Total Votes		84		
STREET, PAUL	REP	84	100.00%	
Write-in Votes	KL1	0	0.00%	
 COUNTY SCH SUP (LBT)	LBT			
× ,		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		2/10	20.0 %	
Total Votes		1		
Write-in Votes		1	100.00%	
COUNTY SHERIFF (DEM)	DEM			
		Total		
Number of Precincts		1		
Precincts Reporting		1	100.0 %	
Vote For		1		
Times Counted		60/221	27.1 %	
Total Votes		3		
Write-in Votes		3	100.00%	
]
COUNTY SHERIFF (REP)	REP	T . 1		
		Total		
Number of Precincts		1	100.0.0/	
Precincts Reporting		1	100.0 %	
Vote For		101/220		
Times Counted		101/228	44.3 %	
Total Votes		100		
BRENFLECK, RICK	REP	5	5.00%	
IRISH, ROBERT "BOB"	REP	23	23.00%	
WAUGH, STEVE	REP	72	72.00%	
Write-in Votes		0	0.00%	
COUNTY SHERIFF (LBT)	LBT			
		Total		

Total		
4		
1		
1	100.0 %	
1		
2/10	20.0 %	
1		
1	100.00%	
	1 1 1 2/10 1 1	1 2/10 20.0 % 1

COUNTY TREASURER (DEM)	DEM
	Total
Number of Precincts	1
Precincts Reporting	1 100.0 %
Vote For	1

Time	es Counted		60/221	27.1 %	
Tota	l Votes		0		
Writ	e-in Votes		0	N/A	
COU	UNTY TREASURER (REP)	REP			
			Total		
Num	ber of Precincts		1		
Prec	incts Reporting		1	100.0 %	
Vote	For		1		
Time	es Counted	1	01/228	44.3 %	
Tota	l Votes		87		
JAC	OBS, ROSS D.	REP	87	100.00%	
Write	e-in Votes		0	0.00%	
COU	UNTY TREASURER (LBT)	LBT			
			Total		
	ber of Precincts		1		
Prec	incts Reporting		1	100.0~%	
Vote	For		1		
Time	es Counted		2/10	20.0 %	
Tota	l Votes		1		
Writ	e-in Votes		1	100.00%	